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But, ‘I finished it’; he is a paid custodian — DWW A NN N7

OVERVIEW

The X713 initially inferred from the 7wn, which stated; Xam 72w nR 70" 1KY 1210
oI MW ,'nvn, that if he merely said 1nni, he is a w"w. This would seemingly
contradict the view of X701 27 7K X955 12 0797 that if by a "X the animal died
after TN2XW "1, he is Mo (since his 7AW ended).1 However from this inference it
appears that even though he finished, his 77°»w continues. N190IN explains why we
cannot differentiate between the cases.

nooIN asks:
= 199NN 1Y D9 ININT NI 1INV 7299 NI 9IND ON)Y

And if you will say; but what is the challenge to X701 27 772X X955 72 0797; here,
by an 12X it is different from a X, for even after he finished he is still holding

on to the item to insure that he receives his wages -

= ININTN 9V 29 JY 4N 90V IV NN o0
And therefore he is still a w''w, even though he completed his work; however by
a PXW after his borrowing period ended, he has no use for it and therefore he is no longer a 7Xw.

mooIn realizes a partial solution to his question:
- 219938N 1Y DYanT PIIN FINY 1399IN NI 99IWY 1IN 13197197 295954 79I90Y 1719

However, according to the reasoning previously, where we compare an 32X to
a 22, and we do not say 7KK 1799 ©IBNT 1IN URW, according to this view -

- *959¥ NN 299
The X773 here properly challenges n"~ “»x 5"29. However according to the other view,
which does maintain 78K 7°2 0507 12X *IRXW, what is the s'X1) question?!

N1B0IN answers:
= IMIMNIND 99NVNY TIYA RPIT RIN NIINN 119D D91 23110 NIT 9910 UN

" [Tt should be pointed out that a %X after 79°Xw *»" (is no longer a YXW, but he) is a w"w, just like an 1% who is a
w"w if he says 1°n7n3; so what is the question. See X"21>7M 57 '01n.]

2 Previously (2,9), the X3 in an attempt to reconcile our 7aw» (which states w"w 1381 73) and »"3 (who rules 5w
n"wa) offered two answers. Either that an 12 is different from a 12w, since 78R 7% 0°9n (so therefore [only] the
AR is a ¥"w but not the 10w), or that (an X is no different from a 75w, and indeed) »"2 maintains that a 12w is
like a w"w, just as an 12X is a w"w. N1BON is now referencing the latter view.

? The latter view (in footnote # 1) assumed that 738K 7°2 0007 is an insufficient reason to distinguish between an
1% and a 72w, they therefore had to resort to the view that »"9 maintains w"w> 721 just like an 12X.

* If we assume that 7™38R > ©°0n is insufficient on its own to consider the 1R a w"w, what is the difference
between an 12X and a Hxw?!
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And one can say; that the concept of 7RKR 77 000 is not always effective to

consider the 12X as a ", unless specifically he is earning money by his trade,
only then does the added concept of 78X 7°% 0°5n, make him effectively a w"v -
+PINN $195 D9 99nvnY *)ya snnt

Because we require two conditions for an 7 to be considered a w"¥; one, that

he is earning money through his trade, and two, that he is m"MARN 7% ©%Bn.
Therefore while he is working and earning money and he is also 7&K 7% 0°5n, he is a w"w.
However when he says 1nn3, he is no longer 250w, so 778K 7°7 001 by itself is insufficient to
consider him a v"v.

SUMMARY
Holding on to an item to insure payment is insufficient (on its own) to render one a
v"w; it must be combined with actual earning.

THINKING IT OVER

nMooIN maintains here that 7ARK 7°% 0°00 by itself is insufficient to render him a
v"w (unless he is also earning).7 Previously (on 000 &p7 71"7 2,0), mpdoIn asked that
we should say that Nowni 9y mona is a W"W because 77K 712 0°0n. However,
since the m%n is not 1onwn, how can he be considered a w"w solely because of ©°on
TIRK 218

> See “Thinking it over’.

% maoin does not explain why we need both. Perhaps it is not worth for the 72 to be responsible for the item (after
he completed his work) just to be sure that he is paid; the potential loss is much greater than the gain. His pay is
worth much less than the item and he assumes that the owners will pay in any case. However he is willing to be
responsible if he is both given the opportunity to earn money and is assured that he will be paid.

7 See footnote # 5.

¥ See 1"99171"7 22 "0 2y "0 DN,
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